[bookmark: _GoBack]	24:55:02:08.  Calculation of high school completion SPI key indicator score. The department shall base the high school completion SPI key indicator score for all public secondary schools on the two factors of high school completion rate and graduation rate, with each of the two factors accounting for fifty percent of the score. To calculate the high school completion SPI key indicator score for a public secondary school, the department shall do the following:

	(1)  Multiply the high school completion rate by half of the maximum points for this indicator;
	(2)  Multiply the graduation rate by half of the maximum points for this indicator; and
	(3)  Add the numbers obtained in subsections (1) and (2).

	This calculation is illustrated in Appendix F at the end of this chapter.

	Source: 39 SDR 51, effective October 3, 2012; 41 SDR 218, effective July 1, 2015.
	General Authority: SDCL 13-3-69(5)(8).
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